Number of Events

e Pythia_ref

le+lpmiss BN Other
7 Z0jj : 1.9%
| Ll e-e+:5%
600 [ 1Z70j:13.7%
i L 170:77.9%
400~
200~

Age”,pmiss) (radians)




Number of Events

400

200

le+lpmiss

e Pythia_ref
B Other
7 Z0jj : 1.9%
L Je-e+:5%
] Z70j:13.7%
L 170:77.9%




Number of Events

_ o Pythia_ref
le+lpmiss B Other

- o Z0jj : 1.9%

B L ] e-et+:5%

1270j:13.7%

L 170:77.9%

100~

—
:(Q]
|

|
) ﬂ;gf
F lﬁ?@ﬁz :
L

=
Lo

1 1 1Y | e
50 100 150 200 250
sumPt (GeV)



Number of Events

80

60

40

20

_ Pythia_ref
le+lpmiss B Other

II—;—|
—@—
—_
—_

7 Z0jj : 1.9%
L | e-e+: 5%

[ 1Z70j:13.7%
L 170:77.9%

i

=
'|'#
: ]

||

UT Ll

l ]

T
1 1

o

| | | | | | | | | | | | |
100 200 300
Mt(e",pmiss) (GeV)



Number of Events

=
-
o

U1
o

le+lpmiss

—¢—||

—_—
_

——_|

—_

e Pythia_ref
B Other
7 Z0jj : 1.9%
Ll e-e+:5%
[ 1Z70j:13.7%
L 170:77.9%

|

= 1

——
= e

|
o

A




Number of Events

=
-
o

U1
o

e Pythia_ref

le+lpmiss B Other
= [ Z0jj : 1.9%
i Ll e-e+:5%
[ 120j:13.7%
— L ] 70:77.9%
- -
L g: | _l_:
I :j:!—__ T_j—L_
[ WEH T JT i
RIS 4T T
! (5 l%l L[
| |
1
. 1 |
| _{_ : I I I oI T éﬁﬁ*_{_ ﬁ
| | a0 ; @ E*. S |
4 -2 0 7 4

e* detEta




_ e Pythia_ref
le+lpmiss B Other

o
)

AN
o

Number of Events

N
o

7 Z0jj : 1.9%
L | e-e+: 5%

[ 1Z70j:13.7%
L 170:77.9%

——-
e

—— I
.
i1
o
=
|
— ]
—— 1
_H
L

S
31
t
i
T
o

T
|

—H4

e’ ¢ (radians)

—

—e— [ |




Number of Events

=
o
o
o

500

_ Pythia_ref
le+lpmiss B Other

7 Z0jj : 1.9%
L | e-e+: 5%

- [ 1Z70j:13.7%
_ L 170:77.9%

| e b oieoo o0, oo-0lc-0olotob ol lo |

80 90 100 110
M(all) (GeV)

- b
120



Number of Events

=
-
o

U1
o

le+lpmiss

e Pythia_ref
B Other

 —

ﬂ:&

7 Z0jj : 1.9%
L | e-e+: 5%

1 70j:13.7%
L 170:77.9%

gl e
is ﬁﬁ%ﬁﬂl
— | UL | IR TiE
i 1 T L | =
b taf,,
(e
| L ol T? ¢ 56 jbo
30 40 50 60




Number of Events

100

o)
o

le+lpmiss

e Pythia_ref
B Other

7 Z0jj : 1.9%
L | e-e+: 5%

1 70j:13.7%
L 170:77.9%

?éi Tﬂlﬂw

=11

— —@—
—_
—
—_
—e— [ [
—Q—
—@—
—
—_

0 2000
W pz (GeV)




_ e Pythia_ref
le+lpmiss B Other

o
)

AN
)

Number of Events

N
o

7 Z0jj : 1.9%
L | e-e+: 5%

[ 1Z70j:13.7%
L 170:77.9%

"

e
ﬁﬁ

I
—=

| | | | | | | | |
=W
|
——m
——1 1
] 3
- bqiq
=
¥
—
T
— i
' T S
i —Fﬁ
| o

— 1 W

pmiss @ (radians)




Number of Events

100

U1
o

le+lpmiss B Other

e Pythia_ref

o

7 Z0jj : 1.9%
L | e-e+: 5%

[ 1Z70j:13.7%
L 170:77.9%




Number of Events

100

U1
o

le+lpmiss BN Other

e Pythia_ref

o

1 Z0jj: 1.9%
L | e-e+: 5%

[ 1Z70j:13.7%
L 170:77.9%

o
ﬂ%

30 40 50 60
clusteredObjectsRecoll p. (GeV)



Number of Events

e Pythia_ref

le+lpmiss B Other
= L 17Z0j:1.9%
B L ] e-e+:5%
i ] 20j:13.7%
1500+ 1 70:77.9%
1000/~ i
500 -
i | | 1
01 0.5 0 0.5

uncl P (GeV)




